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Solutinns of ohiects with annular momentum nroved much more challenninn o find as
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horleng

| 2
hoek1(horleng,y) := dedy(x,y) dx
— horleng
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a = hoeki(680-10%, 680-10°)

a=8.636x 10 °

arcsec(a) := a-206265 arcsec(a) = 1.781360369325

nauwkeuriger berekening

hoek(horleng,y) := |deltax < 1000000
som <« 0
boogseconden_rad <« 206265
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while x < M

bijdrage < dcdy(x,y)-deltax-boogseconden_rad
som <« som + bijdrage

X < X + deltax

som

b 1= hoek(680-107,680-10°)

b = 1.745856
atbuigingperkm(x,y) := —dcdy(x,y)-1000-206265
x := —10-rzon,—10-rzon + 100000.. 10-rzon

afbuiging boogseconden per km
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dedy3(x,y) =

hoek3(horleng,y) := | deltax «— 1000000

som <« 0
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while x <

som

afbuigingperkm3(x,y) := dcdy3(x,y)-1000-206265

X := —10-rzon,—10-rzon + 100000.. 10-rzon
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b3 = hoeka(680-107 680 10%)

b3 =0.87293
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som <« som + bijdrage

X < X + deltax

bijdrage < dcdy3(x,y)-deltax-boogseconden_rad

afbuiging boogseconden per km
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